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Candidates must write the Code on
the title page of the answer-book.

® HUAT A L o foh 38 TH-TA H YfGd TS 12 % |

o - 1 Gife 811 3l 3R T T hIE TR ohi B I -JETeh! o T&-T8 W o |

o U ST HL A o T IHA-TA F 30 T F |

o  HUAT Y hI IR foTEHT & H | U8, T& 1 hHh a9y ford |

o TH Y- % e & o1 15 T o1 wwer feom T 2 | e - 1 o qatg ® 10,15 591
foram ST 1 10.15 ST 8 10.30 &1 b ST helel T3-95 b1 U 37 3 374 o G o
ITR-YfETehT T g I T8l fora |

e Please check that this question paper contains 12 printed pages.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 30 questions.
e Please write down the Serial Number of the question before attempting it.

e 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 am. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.

ORI

ECONOMICS

IH4iRT &7 : 3 a2 BT 3% 100
Time allowed : 3 hours Maximum Marks : 100
Wﬁ%ﬂ:
(i) &Hl GUsl & G4 go7 ST & |
(ii)  JeI% J97 & GTHH 379 37 G TE E |
(iii) F97 G&IT1 — 5 37K 16 — 20 3717 & F70T J97 8, Fe9% F97 1 3% F1 & | T 5971 %
IR TEH T H AT |
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(iv) o7 GEIT6 — 8 3N 21 — 23 T IF0T Jo7 8, F9% o7 3 3% BT 8 | G4l Fo7] 3 I
GIIIA: 60 V1] @ 3718% 7 57 |

(v) T GEIT9— 11 3K 24 — 26 T8 o &7 3707 J97 &, JA% Jo7 F 4 3% & | ¥t go71
& I G 70 I%g] @ 3719% T & |

(vi) T GET12 - 15 37K 27 — 30 3 3707 397 &, I 9% J97 % 6 3% & | T 5ol &
I GrT=ra: 100 31551 @ 3719 7 81 |

(vii) I Fo1 & I Gl UF &1 517 FET T4 TG [HRgaR v AT & Hiaw
FT 1697 ST1T ST [

General Instructions :
(i)  All questions in both sections are compulsory.
(ii) Marks for questions are indicated against each question.

(iii) Questions number 1 — 5 and 16 — 20 are very short answer questions carrying

1 mark each. They are required to be answered in one sentence.

(iv) Questions number 6 — 8 and 21 — 23 are short answer questions carrying

3 marks each. Answers to them should not normally exceed 60 words each.

(v)  Questions number 9 — 11 and 24 — 26 are also short answer questions carrying

4 marks each. Answers to them should not normally exceed 70 words each.

(vi)  Questions number 12 — 15 and 27 — 30 are long answer questions carrying 6 marks

each. Answers to them should not normally exceed 100 words each.

(vii) Answers should be brief and to the point and the above word limit be adhered to as

far as possible.

Qs - A
Section — A

1. ford YopR & STSTR § Uk wH <hl ShIAd SliehTieh gl STdT @ ? 1

Under which form of market a firm is called price taker ?

2. Tt ag ot afcan aeg e AFT AT 8 2 1

When is a good considered an inferior good ?
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3. A T (FET) $Eeh HHH B : (FE fershed gfo)
(A) el JATTH I oI IcATET H 9T LA
(B)
(©) (A) 3 (B)gH
(D) 3TIH | § g T& 1
Average revenue equals : (Choose the correct alternative)
(A) Total revenue divided by the quantity produced.
(B) Price
(C) Both (A) and (B)
(D) None of the above

4, 3TEH Held shl GRHTST ST | 1

Define production function.

5. s qot wfandt w1 feferRaa o1 e e ued ® - (Fe fashed giw)
A) fer$ua
(B) TR 3nga mm (Fwfa)
(C) Ter divia smm (w=nf)
(D) 3Urh |t 1
A perfectly competitive firm faces : (Choose the correct alternative)
(A) Constant price
(B) Constant average revenue

(C) Constant marginal revenue

(D) All the above

6. ThNIcH® A 37 3TTesish AN & o= 37T Fd8Y | IAh hl Th-Ush I&all

IS 3
e
=4y srefomer 3R Tufy srfeme % o AT 9aqisy | T %1 Th-Th 3eel i |
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7. ScdTeA GUTEHT 95k SITE & < i i 3R gt o BT ¥ 7 Jues |
Why does a production possibility curve slope downwards from left to right ? Explain.
8. 9 U I%] hl hmd 50 Fcerd et 7, aF IHeh! AT 60 Hferwrd 5¢ ATt 8 | I7eh! hiwa
HIT A %1 qHehe HITT |
When price of a good falls by 50 percent, its demand rises by 60 percent. Calculate its
price elasticity of demand.
9. U &gl Yfd H Ihg o fohal al SHRUN hl HATEAT Hi™T
Explain any two causes of ‘increase in supply’ of a commodity.
10.  ©iwid «mrd 3R daia s (Fety) foafr gr sare &1 dqer wR) T Hif | s
IR o forl o e |
HHd | IUET | HA AN 1= ATa
® | R ® ®
10 1 10 10
10 2 19 9
10 3 26 7
10 4 36 10
10 5 48 12
YT
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Distinguish between positive economics and normative economics. Give an example

of each.
OR

Distinguish between micro-economics and macro-economics. Give an example of

each.
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TRt STATal < = o <fiF =T 6t gga iR | R T |

REd Y | $d S
GH) EH3)
1 5
2 11
3 15
4 17
5 15

Identify the equilibrium level of output using “marginal cost and marginal revenue”
approach. Give reasons for your answer.

Price Output | Total Cost | Marginal Cost
® (Units) ® 9]
10 1 10 10
10 2 19 9
10 3 26 7
10 4 36 10
10 5 48 12
OR
Identify the three phases of the law of variable proportions. Give reasons.
Variable Input | Total Product
(Units) (Units)
1 5
2 11
3 15
4 17
5 15

11. = g9 %had 3 foh Teh TN SR | HF Gt (4T gt 2, a1 369 STei 0 &1 31t

USdI 8 ? GHHATST | 4

What difference does it make to the market when we say that firms are
interdependent in oligopoly ? Explain.
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12. Ut 3mmem B fo6 o X R A |eft U o TH W STohell SEdTted ‘g 3R T wU
(GST) & @ %] X W et L B! T 3l ST | 39 T X <hl hmd 3 011 W
U ITcl YA 3h1 @l HHEATSY, | {@Trersl o SN shifaw | 6

It is expected that replacement of all existing taxes on good X by the proposed single
Goods and Services Tax (GST) will bring down overall tax on good X substantially.

Explain its likely chain of effects on price and quantity of good X. Use diagram.

Faet gfda wenfit & fore y d@n 12 F WA W

Tt 3 B fob a%g X W IdHe At U o T W 3Thell ST “agq 3R e
(GST) FTH ¥ 9% X W HA L HTHI HH B ST | $8eh a&] X shl hiAd 3T AR T
TS STl TS oh1 ST FHFATST, | ATfeteh! 1 SART SHIfTT |

For the blind candidates in lieu of Q. No. 12

It is expected that replacement of all existing taxes on good X by the proposed single
Goods and Services Tax (GST) will bring down overall tax on good X substantially.

Explain its likely chain of effects on price and quantity of good X. Use a schedule.

13.  Ueh IUMIHT hadl g Fegatl X 3 Y 1 U9 Hal 7 | Emia Swnfiran faveror gra
ITHRBT T <h! I eh! SATEAT HIFT | 6

A consumer consumes only two goods X and Y. Explain the conditions of

consumer’s equilibrium using Marginal Utility Analysis.

14. T RS IHhE<C AT &l Wied o e H 3R 0] F=d Hel™1 L ol Hard &
AT 7 | 39 3e3T U 98 TgHIehI ! FIRE Hear 7 | s e dR R ug= S deh areft
Y ATTG 3T MG AN Id18Y | 3799 3T o 7Y o ST | 6

A chartered accountant starts accounting services in the office owned by him and by
investing his own savings. He employs assistants for this purpose. What are explicit

costs and implicit costs directly identifiable in it ? Give reason for your answer.
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15.

16.
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Fore W@ 3N IAfEE =36 6t ufearn §fe | 77 oft TmensT 6 Sl 91 @ g A= 6
IR GAST B E 7
e
() sTe T Hieft T o gl @ 7 gueey |
(@) SHARMEE T3 3T F1 8T 8 ? TR |

Define budget line and indifference curve. Also explain why the two are downward

sloping from left to right ?
OR
(a) Why is budget line a straight line ? Explain.

(b) Why is indifference curve convex ? Explain.

Yis —-d

Section — B

IR | ferd ush ot fager & fera ush hrot | 3UR ot 8 | WRA o YT T @Td
T g THeH hal g fohdT ST & 7 (Fe faehe i)

(A) T @Td % shfee (credit) 9T |

(B) IS @I % sfee (debit) v #

(C) Usfima @Td o shfee (credit) 91 &

(D) YSHTa @Td o sfeie (debit) 9eaa

A company located in India receives a loan from a company located abroad. How is
this transaction recorded in India’s balance of payments account ? (Choose the

correct alternative)

(A) Credit side of current account
(B) Debit side of current account
(C) Credit side of capital account

(D) Debit side of capital account

7 [P.T.O.
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17.  ATa # foeeft garams wid & « (T fospew gfo)
(A) 3T BT HTUTTR |
(B) YNTIToTeh &1 BT W R |
(©) (A) 3R (B) SHi 1 A7 |
(D) 3SWIh § & forefi &1 off wm i 2 | 1

Foreign embassies in India are a part of India’s : (Choose the correct alternative)
(A) Economic territory

(B) Geographical territory

(C) Both (A) and (B)

(D) None of the above

18.  Tiifeeh Hehot B IcTE & T ST & 7 1

What is meant by Nominal Gross Domestic Product ?

19. TSI TITel 36k G § ¢ (T forehed gh)
(A) STAfHe BT — SIS YA
(B) WAfHeh =TT + ST YA
(C) o S9Ic T — el qIe Tl
(D) 3Tk A T IS oft T 1
Fiscal deficit equals : (Choose the correct alternative)
(A) Primary deficit minus interest payments
(B) Primary deficit plus interest payments

(C) Total budget expenditure minus total budget receipts
(D) None of the above

20. HTHR 91¢ T U Iy § =1 AT 2 ? 1

What is meant by revenue receipt in a Government Budget ?
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21.

22.

23.

24.
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R g TS fop et o wny a3 wiad a9 R SraER R S R
(i) U Ak g HR TlieH &g s & ToIT 7 360 W Ja™ |

(i) g Treq Tamati W TR gr o o =2 |

(i) 3cATEH 3HTE o ToT A Wi W= |

Giving reason state how are the following treated in estimation of national income.
(i) Payment of interest by an individual to a bank on a loan to buy a car.
(i1)) Expenditure by government on providing free educational services.

(ii1) Expenditure on purchasing a machine installed in a production unit.

Teh =X o TG W19 3R J21ed 7 o ofi9 3R 9d18U | 0 O S |91 U5 3™ *
frafor & fagrd &1 3ER g ?

e
3itad IuHi yafd 3 Sied s=d Y o i SR Sd1sT | g1 o o e R TEg § 7

Distinguish between ex-ante measure and ex-post measure of a variable. Which of the
two forms the basis of the theory of national income determination ?

OR

Distinguish between average propensity to consume and average propensity to save.
What is the relation between the two ?

e FAT= ITHA T 0.9 2, A1 w1 70Tk o e T THhe HifT |

If marginal propensity to consume is 0.9, calculate the value of investment multiplier.

HH AT g < 9T W Afqeg o @ St @ | $HehT () Tohdt Tie] 3caTg 3R
(W) HeITI T TS STl HTIeId THTe <hl SITEAT shifou |

CUE
3T < foreor & SreuHarsti § gig & THIST o hedTT 9 T IUTE ISl 8 7 T |

Suppose a ban is imposed on consumption of tobacco. Examine its likely effects on
(a) gross domestic product and (b) welfare.

OR
How does increase in inequalities in distribution of income affect welfare of the

society ? Explain.
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25. 3t fafye smfaa ffy smgama 0.2 8 3K 78 S 5,000 &, @1 SISy Sehi gRT qgT
o <l fshaT SHeTsy | 4

If Legal Reserve Ratio is 0.2 and new deposits are I 5,000, explain the process of

money creation by commercial banks.

26. T ST H HH! o H I 2 (TEiE <) i fireht THEsT | 4

Explain the role of Repo Rate in reducing money supply.

27.  Tereeft fafama <6t |0 & 1 BT Al 3R 7R Il o I FIdl o1 SARET HINT | 6

Explain three sources of demand for foreign exchange and three sources of supply of

foreign exchange.

28. THW "I IR "uy qfd fafyr gra ugf e dqem 'R o fufor aveme | ki w5
TR I | I8 ff THemsT R A T A T YA A P S A SHAI RN IAE M| 6

Explain determination of equilibrium level of national income using aggregate
demand and aggregate supply approach. Use diagram. Also explain the effect when
aggregate demand is less than aggregate supply.

Faet gfda wenfit % fore wem T 28 F WA W

For blind candidates in lieu of Q. No. 28.

T AT 3R TH gl & w0 A @ ¢ afe ww win iR wmy 4fd %1 e fe mn
A, A1 Ush JreHaE T Gder e BT 7 Afe THy i guy gfd @ HH S dl F T g ¢

SR | 6

What is meant by aggregate demand and aggregate supply ? Given aggregate demand
and aggregate supply behaviour, when is an economy in equilibrium ? What happens

when aggregate demand is less than aggregate supply ? Explain.
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29. ‘I=AAT AT & HfH TR T W@ % = W arel 9iEm @ e ta. s w@iE
TG HAdH S W R | THH Sole % AT T FLHR i H1 399 W HiH T T HL T
8 3T HE ? TS | 6

YT

TUHATST fhH TR TR S § hil, 99 3T Tk TEaT o HIEAH ¥ HE1EA]
TS hl GHTfA TehaT ST Tehal & |

The Government, under Ujjwala Yojana, is providing free LPG kitchen gas
connections to the families ‘below the poverty line’. What objective the government

is trying to fulfil through the government budget and how ? Explain.
OR

Explain how the allocation of resources can be influenced in the government budget

through taxes, expenditure and subsidies.

30. () Fsht 31 3R (W) SR Shimd R ae T8 3cd1e 1 aieher $if 6
(E2)

(@) TLHR H TH AT FATa 20

(ii) THRI TEf-eh formi <ht Tt 3T |reg & 91" 31 10

(iii) Jafthes TSI 3T 400

(iv) AT T I 70

v) f7sft fomfera & 6 wfaenfa sm 30

(vi) R-fawmfia et i s=d 20

(vii) A ST BT ITHM 50

(vii)  frm Y e 80

(ix) T R W AN 40

(x) 91y forva w1 faet =Te] &t (-) 10
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Calculate (a) Private Income and (b) Net National Product at Market Price :

R crore)
(1) Current transfers from Government 20
(i1) Property and entrepreneurial income of the Government 10
Administrative Departments
(111) Personal disposable income 400
(iv) Direct taxes on persons 70
(v) Retained earnings of Private Corporate Sector 30
(vi) Savings of non-departmental enterprises 20
(vii) Consumption of fixed capital 50
(viii) Corporate profit tax 80
(ix) National debt interest 40
(%) Net current transfers to rest of the world (-) 10
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